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Exompk#3' A local taxi seruice ¢
? ‘H\.'Pd"owuia: W
ks Foid Cosf = $3.60
4 P km= §150

it an cq,vﬂ‘}l;n for the cast a'f G faxi
® based an distance frovelled.

- cost of Faxi ide
Ax) 1+ éc = Jc\s'\‘wa Frapelld -

¢ =
06 ,
(ﬂ What is £he <o<s:'|' of anll Kia fev; ride?

C:\g d+3.6
w3 c=1.5(1N43.6
c= 16.543.0
C= 520.]0
(@ How far covld you trovel if the taxi
pide ic $3360 ¢
Aﬂa C= |.5J4-3-6
336 = |.5d+3.6

33.-3.6=1.54+%6 3¢
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14. The cost to print brochures is the sum of a F . & -‘. - $
fixed cost of $250, plus $1.25 per brochure. ‘x& Cos = Z 50
a) Write an equation that relates the total ? er b ro““'r‘ = s I. QS

cost, C dollars, to the number of
brochures, n.

b) What is the cost ofg'.inting C.: -To '\.q ‘ C 051-

(\/ 2500 brochures? r‘ “ e )
0" vhc-
¢) How many brochures can be printed N = # ) r

| ~ 125w +250
(mu zg £250 () (212594279

(G C= 230 L2 5= I.ZSM‘Fng
— +
C - Iz.s (2500\ 625 —ZSO’LZ)N-I-ZSO-ZSO
= 3|25+250 _ |2Sw
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16. Clint has a window cleaning service. . - $ | L
He charges a fixed cost of $12, plus $1.50 F' Y*L C“.t
per window. ?gr W‘“-A" ) = s .SO

a) Write an equation that relates the total

cost to the number of windows cleaned. ‘ 'l"
C = +0+“ s

How do you know that your equation

is correct? . é W S
b) Clint charged $28.50 for a job. w = #- a'F Wwih o
How many windows did he clean? ‘ é .
C leaNe

(A)C= [.SOw4\D

® C= |.Gow+]1

24.50

2‘350’”- ':-LSOW"'“‘-
1.50 W S For §28.50 cliwT

_|.S0w+I2
12

16.50 = -
1.60 ).50 can wash 11wm
o=

Pyl 6l
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15. A pizza with tomato sauce and cheese ' QQC"\ “'g ??I.ﬂ

costs $9.00.

Each additional topping costs $0.75. ( ﬂ)

a) Create a table that shows the costs of a Number of Topms Pizza Cost ($)C
pizza for up to 5 toppings.

b) Write an equation that relates the cost, 1 9 . 75

C dollars, to the number of toppings, n. 2 1 O 50
Verity your equation by substituting '
values of n from the table. 3 1 1 ] 25
¢) Suppose a pizza costs $15.00. How many
toppings were ordered? What strategy did 4 1 2 . OO
you use? Try a different strategy to check
your answer. 5 1 2 . 75

- C= o.75v+1
|5 = 0. 75 +19
\% —9 —0.75Vv+9 -9
=07 L n=ERpY

o7 0P
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17. A landscaper uses square patio stones as a _l_ _I_ L I
border around a rectangular garden. * C Veale 4 4 .
The number of patio stones needed depends . ru ‘C. ar
on the size of the garden. * ‘F' N ‘\ q_

This pattern continues. e %Vﬂ fen

# # # # ¥ Answir WVcJ“':éno

Size 1 Size 2 Size 3 Size 4

The landscaper uses 152 stones. What size of
garden does she make?

(A)
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‘PQ'Hum '- MJHli)lj b’ Y and atd 6.

Eq'ug-hén'. U= Q\h-l-é ¥ Uzis2 +h= {
152 = 2h+0b
152 ~6 = 2 hib -b

=2h .
‘I_iné 2 oo Ghrden si2e =73

73=h
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